3 Tri Geometry Name

Ch. 2 Retest Review Hour

Use the diagram to the right to complete the following:
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1. List a pair of Corresponding Angles. 4. List a pair of Conseeutive-Interior Angles.
g5 or A 4H or L1l T oy 21,68 or £, 4
2. List a pair of Alternate Interior Angles. 5. List a pair of Vertical Angles.
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3. List a pair of Alternate Exterior Angles. 6. List2 sets of Linear Pairs.
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For #7-9, name the pair of angles and find the measure of the missing angle.
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JoH + 7 =150
10. In the figure, m£SRT= 60> . Which statement is FALSE? 10 Y

10y
7 -7k
)/(f mZROV= 60°

}Br)/mLCOR =120 ‘“ Tmf ®

/w{nzoRE =60°

VACOR and £TRO are alternate interior angles.

Find the value of x. Explain/show your reasoning on each diagram. Be very detailed!
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For #13-16, state the name of the pair of angles, then find the value of x. Show your work. (2 points each)
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Find the value of x: Q)\’r\/l =1x-T nd the vaiue orx
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Find the value of x: Find the value of x:
X= =

17. Based on the figure to the right, how do you know that lines c and d are parallel?

ke Ad (4‘70%‘5305[306

[A] Alternate Interior Angles are congruent «
: : 07 g0 LSYAY
[B] Alternate Exterior Angles are congruent *\-\,@_ n
SEAV. S\ T

we“lnterior‘Angles are supplementary

[D] Corresponding Angles are congruent ¥ v

[A] Mternate Interior Angles are congruent
[B] Alternate Exterior Angles are congruent '

[C] Consecutive Interior Angles are supplementary

[D] Corresponding Angles are congruent



19. Which would be sufficient to prove that j | | k? Select all that apply.
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Z8 and £7 are supplementary

\E\

44 and /1 are supplementary

[BY £1=/3
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[G] ¥4 and /5 are supplementary

[ya/zz and /3 are supplementary

Are the 2 lines parallel? Explain how you know; be very detailed.

(Sample explanation structure: The lines are because the angles are )
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26. Find the slope of each line. Which lines, if any, are parallel ( || ) or perpendicular ( L ).

(v Z Slopes: Answer to the question:
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For the following questions, write the equation {y = mx + b) of the line given the following information.
27. Find the equation of a line that passes through P(-2, 4) and is parallelto y =6x—7

||5\opt = G Y=mitb
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28. Find the equation of a line that passes through p ( 6 5) and is perpendicular to y =—2x+4

29. Jake says that the line perpendiculartoy = %x + 9 passing through the point (2,4)isy = -—lx + 5.
{

a at is Danielle’s error? 3
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30. Decide which lines below (if any) are parallel and which are perpendicular. Explain your reasoning. (2 points)

linea: y=—6x+2 Any Parallel Lines?

lineb: y=6x—7 d Md 0, M% 4 ,\Q/% opégwtﬂwSW D

line c: y=-2—x+3

lined: y = %x -7 Any Perpendicular Lines?
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